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Kl 29zmx | NS [ EW | 25z2% | NS | EW | #1 | #5 | #1] #5|#1 | #5 || Mean | Ns | EW
1 | N |None] 3CXE3 470 4HN-3 150 320 8 NSO | -10 4
2 | E| NS 1NE1 920 1NE1 920 EWS0
3| s |EwW 4HE4 620 3NW4 630 | 10 EW560 | -2 2
4 | W |Both| anwa 630 5CE6 620 10 EW630
5| N| NS 3NE3 400 3CE4 130 270 7 EW180 | -6 -2
6 | E|EW 3NW4 630 3NW4 630 EW640
7 | s |Both| 2ss4 170 3553 140 30 1 NS170 1
8 | W |None|  4Hs5 450 4HN-1 50 | 500 1 NS170 | 7 6
9 | N|EW 4SE4 620 4SE4 620 EW620
10 | E |Both| 5CN5 600 5CN5 600 NS520 | 2 -2
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1 N [None 3CXE-1 100 4CXE-2 300 200 5 NSO 3 -7
2 E NS 1SE1 80 1NW3 150 70 2 EW80 2
3 S | EW 3NW4 630 3NW3 600 30 1 EW560 -2 1
4 W |Both 3NW4 630 3NE4 630 EW630
5 N | NS 3HN-1 100 4CE4 130 30 1 EW180 2 -2
6 E | EW 3NW4 630 3NW4 630 EW640
7 S |[Both 3SS3 140 4SS-1 100 240 6 NS170 -1 7
8 W |None| 4HS-1 50 S5HXN-2 300 250 6 NS170 -6 10
9 N | EW 4SE5 650 4SE4 620 30 1 EW620 -1
10 | E |Both 5CN5 600 6CN-1 100 700 12 NS520 2 12
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1 | N |None| 4HXs-2 300 4HN-3 150 150 4 NSO -7 4
2 E | NS 1NW4 180 1NW1 90 90 3 EWS80 -3
3| s |EwW 2HE5 200 4HE4 620 | 420 9 EW560 | 8 2
4 | W |Both 3NE5 660 3NW4 630 30 1 EW630 -1
5| N|Ns 4CE4 130 1NE4 180 | 50 2 EW180 | 2
6 E | EW 3NW5 660 3NW4 630 30 1 EW640 -1
7 | S |Both| 3sN3 140 3SN3 140 NS170 | -1 1
8 | W |[None 4HN-1 50 4HN5 450 500 1 NS170 -6 -7
9 | N |EW 4SE4 620 4SE4 620 EW620
10 | E |Both 5CN5 600 5CN5 600 NS520 2 -2
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1 N |None 4CE-2 100 5DXW-3 500 400 9 NSO 3 -11
2 E | NS 1NXE-1 100 1NE1 90 190 5 EWS80 5
3 S | EW 3NE3 600 3NwW4 630 30 1 EW560 -1 2
4 | W |Both 3NW5 660 3NW4 630 30 1 EW630 -1
5 N | NS 5CE-1 50 3NW4 430 480 10 EW180 6 6
6 E | EW 3NW4 630 3NW6 690 60 2 EW640 2
7 S |Both 4SS4 620 3883 140 480 10 NS170 10 1
8 | W |[None 4SXE-3 500 4HS4 420 80 2 NS170 8 -6
9 N | EW 4SE4 620 4SE4 620 EW620
10 | E |Both 4HS5 650 3NS4 630 20 1 NS520 4 -3
#3 IMP|31 |10 3 | 9
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B 4 Infinity 8 Z i
* B IMP 31 10
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# H-VP 16.18 3.82
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i EHE S NS EW EHE S NS EW #6 | #10 | #6 |#10| #6 |#10 Mean NS EW
1 N |None Averagg Averagg NSO
2 E | NS A Averagg¢ A Averagg¢ EW80
3 S | EW A Averagg A Averagg EW560
4 | W |Both A Averagg¢ A Averagg¢ EW630
5 N | NS A Averagg A Averagg EW180
6 E | EW A Averagg¢ A Averagg¢ EW640
7 S |Both A Averagg A Averagg NS170
8 | W [None A Averagg¢ A Averagg¢ NS170
9 N | EW A Averagg A Averagg EW620
10 | E |Both A Averagg¢ A Averagg¢ NS520
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bl H22% | NS | EW | £x25% | NS | EW | #5 | #1 | #5| #1 | #5 | #1 Mean | NS
1 N [None 4HN-3 150 3CXE3 470 320 8 NSO -4
2 E | NS 1NE1 920 1NE1 90 EW80
3| S |EW 3NW4 630 4HE4 620 10 EW560 -2
4 | W |Both 5CE6 620 4NW4 630 10 EW630
5| N | NS 3CE4 130 3NE3 400 | 270 7 EW180 2
6 E | EW 3NwW4 630 3NwW4 630 EW640
7 | S |Both 3883 140 28S4 170 30 1 NS170 -1
8 | W [None 4HN-1 50 4HS5 450 500 1 NS170 -6
9 N | EW 4SE4 620 4SE4 620 EW620
10 | E |Both 5CN5 600 5CN5 600 NS520 2
23+ INP| 15 |12 9
= e
%% ) A2 1 # <
* BINP 15 12
£ 3 IMP 15 12 ;
2 HVP 11.14 8.86
it




2 - - <
4 | 1NE#EE 2RBpREFHLET %"% | b
b))
NS sEmm %EHe(FC) 7 T bl 2 2 NS 3 mEw(R0)
EW 1#2 Exz(RO0) apie EW #&ai X FA(FO)
B# | DL | & #% MEE M E ik REAA | COP Datum
1
¥l z9zmx [ NS | EW | 2nz2s | NS | EW | #7 | #2 | #7 | #2 | #7 | #2 || Mean | Ns EW
1 N |None| 4CXE-2 300 3CXE-1 100 200 5 NSO 7 -3
2 E NS 1NW3 150 1SE1 80 70 2 EWS80 -2
3 S | EW 3NW3 600 3NW4 630 30 1 EW560 -1 2
4 W | Both 3NE4 630 3NW4 630 EW630
5 N NS 4CE4 130 3HN-1 100 30 1 EW180 2 -2
6 E EW 3NW4 630 3NW4 630 EW640
7 S [Both 4SS-1 100 3SS3 140 240 6 NS170 -7 1
8 W |None 5HXN-2 300 4HS-1 50 250 6 NS170 -10 6
9 N | EW 4SE4 620 4SE5 650 30 1 EW620 1
10 E |Both 6CN-1 100 5CN5 600 700 12 NS520 12 -2
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bl H2%% | NS | EW | 6%=22% | NS | EW | #9 | #3 |#9 | #3 | #0 | #3 || Mean | Ns EW
1 N |None 4HN-3 150 4HXS-2 300 150 4 NSO -4 7
2 E NS 1NW1 90 1NW4 180 920 3 EWS80 3
3 S | EW 4HE4 620 2HE5 200 420 9 EW560 -2 -8
4 W | Both 3NW4 630 3NE5 660 30 1 EWG630 1
5 N NS 1NE4 180 4CE4 130 50 2 EW180 -2
6 E EW 3NW4 630 3NW5 660 30 1 EW640 1
7 S |Both 3SN3 140 3SN3 140 NS170 -1 1
8 W |None 4HN5 450 4HN-1 50 500 11 NS170 7 6
9 N | EW 4SE4 620 4SE4 620 EW620
10 E |Both 5CN5 600 5CN5 600 NS520 2 -2
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1 N [None 5DXW-3 500 4CE-2 100 400 9 NSO 11 -3
2 E NS 1NE1 90 1NXE-1 100 190 5 EW80 -5
3 S | EW 3NW4 630 3NE3 600 30 1 EW560 -2 1
4 W | Both 3NW4 630 3NW5 660 30 1 EW630 1
5 N | NS 3NW4 430 5CE-1 50 480 10 EW180 -6 -6
6 E | EW 3NW6 690 3NW4 630 60 2 EWG640 -2
7 S |[Both 3SS3 140 4S5S4 620 480 10 NS170 -1 -10
8 W |None 4HS4 420 4SXE-3 500 80 2 NS170 6 -8
9 N | EW 4SE4 620 4SE4 620 EW620
10 | E |Both 3NS4 630 4HS5 650 20 1 NS520 3 -4
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1 N [None NSO
2 | E|NS EW80
3| S |EW EW560
4 | W |Both EW630
5| N|NS EW180
6 | E|EW EW640
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8 | W [None NS170
9 | N |EW EW620
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